
§·¤æ§ü / Unit-I

1. ÂýæÍç×·¤ â×¢·¤ô´ ·¤ô °·¤ç˜æÌ ·¤ÚUÙð ·¤è ·¤õÙ âè

çßçÏØæ¡ ãñ´ U? §Ù×ð´ ·¤õÙ-âè çßçÏ ¥‘ÀUè ãñU ¥õÚU

@Øæð´?

AF-2109
B.A. (Part - III)

Term End Examination, 2017-18

ECONOMICS

Paper - II

Time : Three Hours] [Maximum Marks : 75

ÙôÅU Ñ âÖè ÂýàÙæð´ ·ð¤ ©UîæÚU ÎèçÁ°Ð âÖè ÂýàÙæð´ ·ð¤ ¥¢·¤
â×æÙ ãñ´ UÐ

Note : Answer all questions. All questions carry equal
marks.
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What are the methods of collecting primary
data ? Which of them is better and why ?

¥Íßæ / OR

ÒÒâæ¢çBØ·¤è ·¤ô â¢BØæˆ×·¤ â×¢·¤æð´ ·ð¤ â¢·¤ÜÙ,

ÂýSÌéÌè·¤ÚU‡æ, çßàÜðá‡æ ÌÍæ çÙßü¿Ù ·ð¤ M¤Â ×ð´

ÂçÚUÖæçáÌ ç·¤Øæ Áæ â·¤Ìæ ãñUÐÓÓ â×Ûææ§°Ð

“Statistics may be defined as the collection,
presentation, analysis and interpretation of
numerical data.” Discuss.

§·¤æ§ü / Unit-II

2. ·ð¤‹¼ýèØ Âýßëçîæ âð ¥æÂ @Øæ â×ÛæÌð ãñ´ U? §â·ð¤

×æÂÙð ·¤è çßçÖ‹Ù ÚUèçÌØô´ ·¤æ ß‡æüÙ ·¤èçÁ°

¥õÚU ÂýˆØð·¤ ÚUèçÌ ·¤è ©UÂØôç»Ìæ ÂÚU Âý·¤æàæ

ÇUæçÜ°Ð

What is meant by Central tendency ?
Describe the various methods of measuring
it and throw light on the usefulness of each
method.

¥Íßæ / OR
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çÙ`Ù â×¢·¤ô´ âð â×æ‹ÌÚU ×æŠØ ™ææÌ ·¤èçÁ° Ñ

ÂýæŒÌæ¢·¤ çßlæçÍüØô´ ·¤è â¢BØæ

®-v® vz

v®-w® wz

w®-x® zw

x®-y® z{

y®-z® |}

z®-{® }®

{®-|® |®

Calculate Arithmetic Mean from the
following data :

Marks No. of students

0-10 15

10-20 25

20-30 52

30-40 56

40-50 78

50-60 80

60-70 70
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§·¤æ§ü / Unit-III

3. ¥Âç·¤ÚU‡æ ÌÍæ çßá×Ìæ ×ð´ ¥‹ÌÚU ÕÌæ§°Ð

çßá×Ìæ ·¤è Áæ¡¿ ·¤è ·¤õÙ ·¤õÙ-âè ÚUèçÌØæ¡

ãñ´U? ©Uâ·¤ô ×æÂÙð ·ð¤ @Øæ ©UgðàØ ãñ´ U?

Distinguish between dispersion and
skewness. What are the methods of testing
skewness ? What are the objects of
measuring it ?

¥Íßæ / OR

çÙ`Ù ¥æ¢·¤Ç¸Uô´ âð ×æŠØ, ×æŠØ çß¿ÜÙ ¥õÚU

©Uâ·¤æ »é‡ææ¢·¤ ™ææÌ ·¤èçÁ° Ñ

ß»ü ¥æßëçîæ

wz-x® v}

x®-xz w|

xz-y® x~

y®-yz yw

yz-z® xx

z®-zz wv



From the following distribution find out the
Mean, Mean Deviation and its Coefficient :

Class Frequency

25-30 18

30-35 27

35-40 39

40-45 42

45-50 33

50-55 21

§·¤æ§ü / Unit-IV

4. SÂèØÚU×ñÙ ·¤æ âãUâ`Õ‹Ï »é‡ææ¢·¤ @Øæ ãñU? §â·¤è
©UÂØôç»Ìæ ·¤æ ß‡æüÙ ·¤èçÁ°Ð

What is Spearman’s rank correlation
coefficient ? Bringout its usefulness.

¥Íßæ / OR

x ¥õÚU y Ÿæð‡æè ×ð´ âãUâ¢Õ¢Ï »é‡ææ¢·¤ ™ææÌ
·¤èçÁ° Ñ

x v| v} v~ v~ w® w® wv wv ww wx

y vw v{ vy vv vz v~ ww v{ vz w®
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Find the correlation coefficient between x
and y :

x 17 18 19 19 20 20 21 21 22 23

y 12 16 14 11 15 19 22 16 15 20

§·¤æ§ü / Unit-V

5. âê¿·¤æ¢·¤ ¥æçÍü·¤ ÕñÚUô×èÅUÚU ãUôÌð ãñ´U? §â ·¤ÍÙ

·¤è çßßð¿Ùæ ·¤èçÁ°Ð âê¿·¤æ¢·¤ ÕÙæÌð â×Ø ¥æÂ

@Øæ âæßÏæçÙØæ¡ ÚU¹ð´»ð?

Index numbers are economic barometers.
Discuss this statement. What precautions will
you take while preparing index numbers ?

¥Íßæ / OR

çÈ¤àæÚU ·ð¤ ¥æÎàæü âê˜æ ·¤æ ÂýØô» ·¤ÚU·ð¤ çÙ`Ù

¥æ¢·¤Ç¸Uô´ âð w®®| ·¤æ âê¿·¤æ¢·¤ ÕÙæ§° Ñ

w®®{ w®®|

ßSÌé ×êËØ ×æ˜ææ ×êËØ ×æ˜ææ

A v® |z v} {®

B { yz vw x®

C v® x| v® {®
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Contruct the Index number for 2007 by
applying Fisher’s ideal formula from the
following data :

2006 2007

Article Price Quantity Price Quantity

A 10 75 18 60

B 6 45 12 30

C 10 37 10 60

———
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